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CS9919BS | CS9929BS
SBE 0.050kV ~ 5.000kV
Tl . N
i BE + (2%IEE+5V)
DHER v
RAHHIDE 100VA ( 5.000kV/20mA )
BRARERR 20mA
TREEFSEE 0~ 20mA,0=7¥I¥7 R
=2hiy =iV 200uA. 2mA. 20mA
IR IE5%R
MR AEE <2% ( ZEERAEEMERE )
SR EE] 1.3~15
mHESRE DDS+I5g
EBJE_EFHA 0.35~999.9s 0=Fa[%_-FHAtax
MztATE 0.3s ~999.9s 0=3Z&4E M
FB & TREAd A 0.3s ~999.9s 0=E3 & TPEATER
[EFRAiE] 0.0s ~999.9s 0=|EIFFRTIEIR
RimEEL 4
iR AR N &=, G1&Ezf
SBE 0.050kV ~ 6.000kV
Tl . N
B AE + (2%I1EE+5V)
DHER v
RABHIpE 60W ( 6.000kV/10mA )
BRARERR 10mA
==h =iV 2uA. 20uA. 200uA. 2mA. 10mA
BUREE <5% ( 6kV/10mA )
Gl <200ms
RAFTHER 10mA
FBE_EFHA ] 0.35~999.9s 0=Fa[%_-FHAtalx
MR i8] 0.3s ~999.9s 0=3ZE4ziz
B & T PERTIE) 0.3s~999.9s 0=F3[E FR&ATE<
[EFRAiE] 0.0s ~999.9s 0=|EIfERTIEIR
SERTHREERT ) 0.35~999.9s O=FERHRERIEK
LG 4
e EE NiEz, G il
SE 000 ---------e- 0.050kV ~ 1.000kV
Tl v N
- S + (2%iEE+5V)
SR v
SALRISEE 10GQ
rTREEE I ——— 9.999GQ
SNTIRZEE 1MQ

R
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BEELFRE 0.3s ~999.9s 0=F8/F L FAdiaR
UUIGHIIN =~ - 0.35~999.9s 0=1ZELE Mz
ERRRTIE] 0.0s ~ 999.9s O=[ElfRAtER
mmerstr [ TRERF. %
VG100 - <200ms
LG 4
0.050kV ~ 5.000kV
SBE
0.050kV ~ 6.000kV

BE + (2%IEE+5V)
DR i\
BREE BEHRE

=S 0 ~ 20mA

SBE 0 ~ 10mA

P 200uA £ : 0.1uA,2mA £ : TuA,20mA £ : 10uA

e 2uA %Y : 0.001uA, 20uA £ : 0.01uA, 200uA 1 : 0.1uA, 2mA 4 1uA, 10mA £ :

i 10uA
WEREE >2mA B+ (2%+5PF) , <2mA A+ (3%+51MF)
{mF2INRE MR B AORIER Rt AT LARRIRLZS .
Tt GND #&=z{, : RETURN imfzEtl5% FLOAT #&z{, : RETURN i

TENF

N=TE 1IMQ ~9999MQ

P 1IMQ~9.999MQ : 0.001MQ , 10MQ ~99.99MQ : 0.01MQ,
100MQ ~999.9MQ : 0.1MQ , 1000MQ ~ 9999MQ : IMQ
0.100kV ~ 0.200kV:1MQ ~ 999MQ +5% , 1000MQ ~ 3000MQ +10%
BE 0.201kV ~ 0.499kV:1MQ ~ 999MQ +5% , 1000MQ ~ 5000MQ +10%
0.500kV ~ 1.000kV:1MQ ~ 999MQ +5% , 1000MQ ~9999MQ +10%

SEE 0~999.9s
DR 0.1s
HBE + (0.1%+50ms )

R
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